Murder on the Orient Express
Chapter 3 and 4 Quiz
Directions: Choose the letter of the best answer for each question.

1) In chapter 4, what platform does the Orient Express stop at?
a) Stamboul
b) Belgrade
c) Constantinople
d) Syria

2) How much does Mr. Ratchett offer to pay Mr. Poirot for protection?
a) $10,000
b) $12,000
c) $25,000
d) $20,000

3) The conductor tells Mr. Poirot he is taking Mr. Bouc’s compartment.  Where does Mr. Bouc move to?
a) Into MacQueen’s compartment
b) Into the Athens coach
c) Into Arbuthnot’s coach
d) He stays in his own compartment with Poirot

4) Who is in the compartment next to Mr. Poirot?
a) Mr. Ratchett
b) Mrs. Hubbard
c) Mr. MacQueen
d) Mary Debenham

5) What was unique about the train when Poirot awoke?
a) There was a fire underneath the dining-car
b) The train was moving too fast and might derail
c) The train was stopped because the conductor fell asleep
d) [bookmark: _GoBack]The train was stopped at another train station






6) Why did Col. Arbuthnot think Poirot got off the train at Belgrade?
a) Poirot said it was his stop
b) Arbuthnot saw Poirot standing on the platform
c) Ratchett told Arbuthnot Poirot refused the job, so he had to get off the train
d) The conductor moved Poirot’s bags out of MacQueen’s compartment

7) Poirot is awakened by a cry in the night.  The conductor comes to check on the matter and gets an answer from Ratchett’s compartment.  What time is noted on Poirot’s watch?
a) Twenty-three minutes to one
b) Fifteen minutes to two
c) Twenty-three minutes to twelve
d) Twenty-eight minutes to midnight
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